
F253 Calculus III: Quiz 2 September 8, 2021

Name:
1. Show that the point P(1, 2, 3) lies on the plane defined by 2x + 3y � z = 5.

2. Find the “parametric equation” of the line that passes through P(1, 2, 3) and is perpen-
dicular to the plane from problem 1.
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3. Find a vector perpendicular to the vectors v = h1, 2, 1i and w = h3, 1, 1i.

4. Find the equation of a plane that passes through the points O(0, 0, 0), P(1, 2, 1) and
Q(3, 1, 1).

5. Find the equation of a plane that is parallel to the plane you found in problem 4 but that
passes through the point R(5, 1, 0).
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from problem 3 .
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